I AR ZEEMESHE =R EE R (H30 &£ 10 A 9,11 BRITE) (86 <1450 -~)LR/E)

I E 5 PR HAlE 3 . o AIERER
SHI=F 12 =
(FrE i) Xz AEHAT (H2) (1 Su/h)

B A 0FA| AEDRME 1Og°m 88;

HEA2—19—1 s . ! : e :
INAy D — LfTE 5cm 0.024
JLAT A E 0B9R | AEbRME 102‘”“ gggg

JtE5—24—6 i S em :
EXE Gt 5cm 0.060
ELADCHCAE 10898 | AEbRE 000 0025
=+A3—3—3 = 5cm 0.023
B anps g ]| 5cm 0.040
CIEENE 0R9E | AEmHRME 000 0040
= RSB O 5cm 0.042
EEDOM 0A 1 E| AEERFE 000 0038
FA e —8—7 = 5cm 0.046
e = It FEER 7K BR4E 5cm 0.041
) 100 0.028
BéENE 10811 8| ABEPRE 5;: 5024
ASOONERE g g AEbRME oo D00
AKZL5—20—9 = 5cm 0.037
- 5cm 0.050
100cm 0.060

NE 135

wErS B 105 E| SEBRME Som 0.059
FET3—26—13 E BReit: 5 0.066
2 o 0.074

AITEHLSE  IBIEET#EE=4 HORIBA PA-1000 Radi GRIFE S DX 5 RIZE 10%)




X 2B OZERE SRR E R (H30 &£ 10 A 22,23 BAITE) (<1505 -~)LR/E)

I E 5 PR HAlE 3 . o AIERER
_ ,ﬂl [ N =] :
() Xz AEHAT (H2) (1 Su/h)
EENE 0B2A8| AEHBRME 100cm 0.034
HFEE2—19—1 {5 5cm 0.032
a A 5cm 0.041
JLAT A B 0R2E| AEHRME 102‘”“ gggg
JtEI5—24—6 i cm :
LRIFR 5cm 0.041
EtAbGHAE 0B 28| AEhRME 000 0.029
=+A3—3—3 B 5cm 0.027
= Bl sk 5cm 0.042
CIEENE 0A 28| AEGRFE 000 0041
= mAlAEOEEA 5cm 0.045
EEDH 0A23 8| AEERFE 000 0042
= 5cm 0.051
S E1—8—7 =
5cm 0.062
250 0A 23 8| AEERFE 000 0.030
Tt = JS aftik 5em 0.034
AEOMERE gy n| AERRME oo
AKZL5—20—9 = 5cm 0.051
- 3 E0L 5cm 0.049
100cm 0.063
/\ 3 ’FI-
RRT S AN AE 0R2ag| BEMRME 5cm 0.063
mEr3—26—13 £ PRt 5 0076
R cm 0.073

AITEHESE  IRIEETHRE=4 HORIBA PA-1000 Radi GBIE 28 M fE %t}

BRERE 10%)




